CW 2.5.5 Function Representations Name

The Waiting for Flyers Parking Lot cost = 2- ¥oFhowrs + 5
charges you $3 to enter the parking f(x) = 2x + 3
w rm-u lot plus an additional $2 for every Graph: () = 2 +
arm p hour your car is parked there. 9
Independent Variable x: g
Any ?S on Hw.' WOt’kSheeT 2.5.4' # of hours parked in the lot 7
Dependent Variable f(x): 6
. cost to park in the lot 25
Goal: | can represent linear Table: g,
functions with tables, verbal Tl | cout
Y . hours 2
descriptions, symbols, equations, |
h late f +1 C O 3 +2
and graphs - and translate from WS ) e Eaw m T
H #ofh
one representation to another. 1( )+ . ofiomss
Z ~ Find f(10) and explain its meaning
+1 C g ) +2 in context ;%f the problem.
HW: Worksheet 2.5.5 = RS 2000
. ad What is the rate of change?  $2/hour If you park for 10 hours,
What is the starting value (cost)? $3 you will have to pay $23.
Situation 2: Equation; Situation 3: Equation:
\/OUL have 1O cookie= Total # of cookies = yﬂ U hé{,[}ﬂ, ﬂ) 0. amount of $ = -2 - # of bottles of pop + 30
: 12 - # of pans of cookies made + 10 = Q¢ +
%M% ba@é G ’ f(x) = 12x + 10 You b“% oottles. Qrapﬁ o= =
« JOU Cann :
) ¢ Graph: ok Q0P Lo K2 . -
| 2 cookies on a pan. 45 7 $32I
Independent Variable x: a0 Independent Variable x: % $28
# of pans of cookies you make 35 # of bottles of pop —; $24
Dependent Variable f(x): 30 Dependent Variable f(x): 3
total # of cookies you have 25 amount of money you have & 320
S $16
Table: 20 Table: E 53
# of pans | total # of 15 # of pop | amount S g
made cookies DQ@I%O i bottles of $ % o
0 10 £\ 2 R 0 30 e
_\\< ) b5 % F T 5 o >‘< > 12 345 67 89
1 9\ 9\ ) 5 \& QQQ&\ & 1 &% \) Kp» # of bottles of pop
%
2 ’bux > If you increase the number of pans ( 2 Q (o Find f(15) and explain its meaning
3 ) 4\ of cookies by 2, how many more 3 </ 9 in context of the problem.
W\Q cookies do you have? = X -2(15)+30=0
What is the rate of change? 12 cookies perpan  H™~\D= AN What is the rate of change? -$2/bottle of pop If you buy 15 bottles

What is the starting # of cookies? 10 Q\L Q= 9\\5\ What is the starting amount of $?  $30 of pop, you will have $0.



